EARAROBEEIERT — 2 N— IBISH —F

201559A6H (H) 6mKR2H

IR C 2 A YR ‘ (%] 2 ‘ (srsm]  — | & (&) 14000 &
[A&4£] 1 7% :100,000  ~ 23#&:20,000”  33%&:10,000 M  43#&:7,000H ~ 53 :3,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S = R EATE 132, ~5-4- . — 1EREREE (KOR)
(lsl5 |71 1—> 3 o 1(3_2)3 5-5-4-3 | 40.2 2 ig)s i
RIZFAT—IE BiF oA RY—L Evdly RT7—L4
P . 3 | HLER 1:32.7 2-2-2-1 | 40.9| — 3 482 | FEE (KR)
EE o | ZXA KT 4=} 54.0 2 1/2) (1) | PEEEA
R:T7H 4TI B:RI—LTxT HR=HHS
s e — S LA : -1-1- — HRIEZRI (KR
30111 U5y TTaTIV s 54.0 1('33,%458 B M ! f; ;y;;gﬂm
gz /FLby b BiTIVA)TFo—L Hf #BZ
B ROE— : -9-8- — HEEFE (KR)
4 NEET=PES: 4t 10 el 1.(3;3).5 9-9-8-8 | 40.2 5 (4_338) e y
R:hAM4A—Y—X B:vAILKT7AR JIE 1k
N = B2 :33. ~7-6- . — EiEH (KR)
518 8| JLTIRTNTAT e [ T B P |iems
L:ZXNAF1— B:IL—XK-—F & B
< 55 < SRR :34. -3-3 4| = fEREIE (OKR)
6 4 3, —XF1F3X % 3 iy 1(3;1)2 3-3-3-4 | 42.4 4 (4+311) s
L:yrh—r B:I7O0-F0WTVa1/— BB
= o5 | AVRE 1:34.5 8-8-9-9 |41.2| — 6 493 | AR (BER)
7189 | #—7>T1—0 25470 (' 3/4) 1) | KBEXT
AT AT v — BEYH/ITA [ a=bie]
. o7 | BIXIE 1:34.9 7-6-6-7 | 42.1| — 9 420 | RIIEFE GKR)
EH 3 FAL ‘ 56.0 2 1/2) (-5) () J PN;’ﬁﬁﬁ
R:ZFAT—IE B:TIM b —X> RIS
. . . TIPSt :35. —-4-5- . — HHEF (KR
9l7l7 K—JL R4 KR # 5 56.0 (12315/23) 4-4-5-6 43.2 7 (4_148) S
R:TZ9v 724K B:A1 %4+ X4~ ellikse]
® I—F—@EBIERL
13—7F— 1,2,4,7,5,8,3,9,6
Ao=5"= 1,2,4,7,5,3,8,9,6
33—7F— |[1,2,4,5,7,(3,8),6,9
41—F— (1,2),5,4,8,7,3,6,9
[ RN
B 5 260/ 794K 2-5 190 & 2-5 320M &R 1-2-5 210
% B 5 110 15 1400 | | BB & 2-5 440/ | | EE 5-2-1 1,210M
2 110 1-2 160H B H 5-2 620M
1 1009

ABICOVWTRDTEEERROODE. TR LIV,




